(AY/1Y) and LABJND -Y sensitivity (AY/1Y) and CIELAB -Y sensitivity
(AYY) I (AYIY),  normalized to AY/Y), (AYM) 1 (AYIY),  normalized to AY/Y),
text lightness text lightness

LHL* = Wa) {In (L +aY)-In(1+aYy} [al|[ L*=s(Y/¥y)"-d  (Yy=100,Y,=18, s=116, n=1/3, d=16) 1.

L¥L* = (Wa) {IN[1+ b (Y/YQ] - In (1+b)} [blf| Lr=r (vv)"-d  (r=s(Yy/Yn)"=65,49,L* = r - d) [1b]
text relative lightness text relative lightness

tristimulus value Y sensitivity [Be])[ dY/Y=[(Yo/(ns)I(Y/ \(n)l’n 1Y [3c]
text log(L*/L*u) text log(L*/L*u)

(dYMI(ERAY) / Y]/ [(1+aYy) /Yyl B8l @Y /Y[ (n)I0Y /Y T Yy [3d]
text In(L*/Lu) text In(L*/Lu)

@Y /)/AY Y, =(Y/Y)™" [3e]
text L*/L*u=e**x text L*/L*u=e**x
log [(dY / Y)/ (dY / Y))] = (-n) log(Y / Yy) [3]

hep2i-1a hep21-2a
(AY/Y) and IECsSRGB-Y sensitivity (AY/IY) and TUBSRGB-Y sensitivity
AYM) 1 QYY) normalized to AY/Y), (AYIY) I (AYIY), normalized to QAY/Y),
text lightness text lightness

L*=s(Y/Yy)"-d  (Y4=100,Y,=18, s=100, n=1/2,4, d=0) g L*=s(Y/Y)"-d  (Y4=100,Y,=18, s=100, n=1/In(10), d=0)  [14]

Lo =r (YIY)"=d  (r=s(Yu/Yn)"=48,94,L* ;=1 - d) [b]|| L*=r(YivY)"-d  (r=s(Yy/Yy)"=47,48,L% = r - d) [1b]
text relative lightness text relative lightness

dY /Y= (Yo (ns)1Y 1Y) 1Y Bel |l dy/y=[vel (ns) 1Y Y)Y Y [3c]
text log(L*/L*u) text log(L*/L*u)

@Y =10 (n) 10/ Y T Yy Bl @Y/ YL=[0Yl (n)10Y /Y Yy [3d]
text In(L*/Lu) text In(L*/Lu)

@AY /)@Y 1YL =(Y 1Y) ™" Bel|[ @Y/Y)y@y/vy=¢r/v)™" [3e]
text L*/L*u=e**x text L*/L*u=e**x

log [(dY / Y)/ (dY / Y)] = (-n) log(Y / Yy) 13 || log [(dY / Y)/ (@Y / Y)] = (=n) log(Y / Y,) [3f]

hep21-3a

hep21-4a

hep21-3n



